o(d x) (um) for PV

Ratio

a(dy) (um) for PV

Ratio

a(d z) (um) for PV

Ratio

5 10 15 20
Vertex z (cm)

o0 X) (um)

10 15 20
Vertex z (cm)

50 5

o(d x) for merged vertices (um)

Ratio

T CRF_UKIG

M_TT CKFandPLess_ORIG

DOM
B8
D

M TT _CKFandPLess"MODIF

10°|

1_ ..... -4 {3
095 -+ A T E T
ookt LB [ EsIE]

=20 -15 -10 -5 0 5 10 15 20

Vertex z (cm)

10

e
LA LA LA L

10 15 20
Vertex z (cm)

a(0y) (um)

0(0 2) (um)

ﬂ,f+

=
o
W

10?

0 5 10 15 20
Vertex z (cm)

10 15 20
Vertex z (cm)

o(d y) for merged vertices (um)

Ratio

o(d z) for merged vertices (um)

Ratio

10° =

10?

10 15 20
Vertex z (cm)

5 0 5

Vertex z (cm)



	Contents
	Page 1


